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<Python>

>import numpy as np

>from numpy import linalg as LA

>import matplotlib.pyplot as plt

>n=8; nt=5

>x=np.array([ 0.5, 1., 2., 3.5, 5.5, 8., 10.5, 12. ]).reshape(n,1)

>y=np.array([ 2.8654883 , 2.66422646, 3.68812138, 6.39507074, 9.26655548,
13.52528373, 19.38166085, 19.6975463 ]).reshape(n,1)

>xt=np.array([ 1.5, 3, 6, 9, 13]).reshape(nt,1)

>X=np.concatenate((np.ones((n,1)),x),axis=1)
>beta=LA.inv(X.T.dot(X)).dot(X.T).dot(y)
>print('beta=',beta)

>yh=X.dot(beta)

>e=y-yh # & Xi(residual)
>SSTO=np.sum((y—np.mean(y))**2)
>SSE=np.sum(e**2); SSR=SSTO-SSE
>R2=8SR/SSTO
>corr=np.sign(betal1])*np.sart(R2)
>corri=np.corrcoef(x.T,y.T) # corr=corr1[0,1]

>print('R square=',R2,'cor(x,y)=', corr)
>print('cor(x,y) matrix=',corr1)

>plt.figure(1)
>plt.plot(x,y,'k."):plt.plot(x,yh,'b—=");plt.xlabel('x"); plt.ylabel('y')

>xt=np.array([ 1.5, 2.5, 6., 9.5, 11. 1).reshape(nt,1)
>Xt=np.concatenate((np.ones((nt,1)),xt),axis=1)
>yth=Xt.dot(beta)

>print('yth=",yth)

HH A S S
>from sklearn.linear_model import LinearRegression

>model = LinearRegression().fit(x, y)

>beta0=model.intercept_

>betal=model.coef_

>R2= model.score(x,y)

>yh=model.predict(x)

>yth=model.predict(xt)



